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FOREWORD
Imparting quality education involvesensuring that all the students have achieved the

prescribed competencies and | earning outcomes by the time they complete schooling. It's
commendabl e that the government i staking stepsto improve the quality of educationthrough
strategies and action plan to achieve class-specific and subject-specific L earning outcomes
by the students.

In order to improve our position at the national level, there is amearnest need to
improve the competencies of studentsthrough effective teachinglearning process.K eeping
in view, to support teachers in achieving these prescribed competencies and learning
outcomes, SCERT has prepared Item banks for different'subjects in English, Telugu and
Urdu media.By clearly specifying learning outcomes and providing model items, teachers
are given thetools they need to align their teaching strategies with the desired outcomes.
Thisapproach not only supportsteachersbut a soempowersthem to adapt their methodsto
suit the needs of their students effectively.

Efforts like these demonstrate,a commitment to continuous improvement in
education, aiming to elevatéthe quality of learning and ultimately enhance student learning
outcomes. With dedicated support from educational institutions and stakeholders, the goal
of achieving higher scores.in assessments becomes more attainable.

| appreciatethekaculty of SCERT and the content developersfor their untiring efforts
in bringing out'these Item banks which will be largely useful to teachers and studentsin
getting the desired results. Further | thank Principal Secretary, Education Department,
Cemmissioner, Department of School education and State Project Director, Samagra Shiksha
for thar unflinching determination to elevate the stat€' s position by their continuous guidance
and support.

Director
SCERT, Telangana



Guiddines

National Achievement Survey isanationa level large-scale competency based assessment will

be conducted to obtain information about the learning achievement of students of Classes 3¢, 6" and
9" studying in State Govt. schools, Govt. Aided schools, Private Unaided and Central Govt. schools.
NASdoesnot provide scoresfor individua student/school.

The Nationa Achievement Survey will be conducted inthe month of November in Language,

Mathematics& Environmental Studiesfor classes 39& 6" andfor class 9" inModern Indian L@nhguage,
Mathematics, Science, Social Scienceand English. The programme “ Strategiesand A¢tion Plan” 1S
designed to give awarenessto the Teachersregarding question patterns and learningeutcormes o that
Teacherscan ensurethe achievement of classand subject specific learning outcemesofitheir students.
Guidelinestotheteachers:

>

>
>

>
>

It should be noted that objective of this programmeisto achievesubject- specific and
class—gpecific learning outcomes by the students.

| dentify thelearning outcomesin each unit.

Teaching learning process should be conducted in dignment with the achievement of learning
outcomes.

Classroom management should be done to encourage the students' active participation,
guestioning, doing activities reflectionand dlaboration inthe learning process.

Priority should be giveninteractivetmethod of teaching.
Teacherscan modify their teaghing strategies according to their class-room stuations.

Inregular period concentrate on the learning outcomes of the lesson taught and in special
periodsfocus should be on any one of thelearning outcomes.

| dentify the differentipatternsof questionsrelated to the learning outcomes and makethe
studentsto practice them:

Teachers shoulddiscussthe answersafter completion of the mock tests.
Teacher sheuldmaintain thelist of the learning outcomes discussed inthe class-room.

Guidelinesto the Héadmaster s:

>
>

A\

School level specid action plan should be prepared and implemented in the school.
For‘conducting special class, ensure that daily one period is alotted. Inthat special class,
practice on learning outcomes of onesubject should be done. Cover al subjectsin aweek
accordingly.

Ensurethat the designated specid classis conducted smoothly as per plan.

Ensurethat learning outcomes should be covered in both regular and specia periods.
Review theprogress of the studentsat school level after each mock test.



LO Number LO Name

M 401

M412

M418

M-421

M-501

M-504

M-505

M-506

M-508

M-509

M-512

M-513

M -514

M-515

M-516

Appliesoperationsof numbersindaily life situations.

Explores the area and perimeter of simple geometrical shapes (triangle,
rectangle, square) in termsof given shape asaunit.

Calculates time intervals/ duration of familiar daily life events bysusing
forward or backward counting /addition and subtraction.

Represent the collected information in tables and bar graphs and draws
inferences from there.

Reads and writes numbers bigger than 1000 beingiused in her/his
surroundings.

Estimates some difference product and quotient’of numbers and verifies
thesame using different strategieslike tsing standard a gorithmsor breaking
number and then using operation.

Finds the number correspondingteart of a collection

Undentifiesand fopms equivalent fractionsof agiven fraction.

Convertsfractionsinto decimalsand vice-versa

Classifiesanglesinto right angle, acute angle, obtuse angle and represents
the same by drawing and tracing.

Relates different commonly used larger and smaller units of length weight
and valume and convertslarger unitsto smaller unitsand vice versa.

Estimatesthe volume of asolid body in known units.

Applies the four fundamental arithmetic operations in solving problems
involving money, length, mass, capacity andtimeintervals.

Identifiesthe pattern in triangular numbers and square number.

Collectsdatarelated to various daily life situations, representsit in tabular
form and asbar graphsand interpretsit.



Class : VI

Subject: Mathematics

LO: M401

Applies operations of numbers in daily life situations.

A shop keeper purchased 25L of Sunflower oil and 38L of Ricebran ail. Ifithe priee of
1L Sunflower oil is 148 and the price of 1 L Rice bran oil is¥ 135, then hew much
money did he spend?

(A) % 5130
(C) % 8830

Nehanth’sfather gave him I 1550 and his mother gave him 1865 to purchase things
needed for him at school. He spent ¥ 1280 to purchase booksand 1647 for stationery
itemsand school bag. Then find how much moneyisleftwith him?

(A) X 2927 (B) 3488
(C)X 3415 (D)X 6342

A cloth merchant bought 42 meéters of, shirt cloth with the amount of ¥ 2730. Then,
what isthe price of 25 meter cloth?

(A)T 1565
(C) T 1652

(B) % 3700
(D) T 9324

(B) T 1665
(D) % 1625

Shanoor started from hishousein the morning and travelled 1 hour by Auto, 2 hours by
Busand reachedhisvillageat 11:30A.M. At what time did he start from his house?

(A) :00AM (B) 8:30 PM
(G) 8:30A.M (D) 9:30A.M

Karthik and Charan have saved some amount in their kiddy banks.After ayear when
they opened their kiddy banks, the money saved isas below:

3 500 3 200 < 100 350 20
Karthik | 2 6 12 4 5
Charan | 3 6 6 2 2

Now identify the incorrect statement from the given statements.




(A) Karthik saved ¥ 3700 (B) Charan saved X 3640
(C) Karthik saved ¥ 260 more than Charan (D) Charan saved X 3440

96 students and 8 teachers of aschool went to the Planetarium. The entry ticket price
for adultsis 150 and for childrenis¥ 80. Find the total amount spent for the tickets.

(A)X 1200 (B) ¥ 8880
(C)X 7680 (D) T 6480

Shanti went to adry fruitsshop and purchased 300g of Cashew, 2009 of Badam, 200g
of Pistaand gave< 1000 to the shopkeeper.

Dry Fruits Shop — Price List

ltem Price for 100g
Badam < 80

Cashew < 110

Pista < 150

Walnut T 180

How much amount did the shopkegper give back to her?

(A) % 790 (B) % 870
(©)X 130 (D) T 210
6m
3m Wall

Srivalli is planning to decorate one side of her room’swall with awall paper. The cost
of the wall paper isT 645 per square meter. How much money does she require to
decoratethewd|?

(A) T 11610 (B) T 23220
(C) T 5805 (D) T 3870



9.

10.

11.

12.

13.

There are 36 chalk piece boxesin acarton. If the cost of 1 cartonis?. 2016, find the
cost of one box.

(A)X 46 (B)X 36 (C)X 66 (D)X 56
A rice shopis selling 3 types of rice bags and the priceisaslisted below:
Rice Bag type Price per bag

Al-grade < 1840
A2-grade < 1560
A3-grade < 1250

If the shopkeeper sold eight A1- grade, twelve A2-grade and fifteen/A 3-grade rice bags
in aday, calculate the total amount the shopkeeper earnedby selling the rice bags on
that day.

(A) T 52190 (B) T 25190 (C) T 52910 (D) % 59210

In an election 3 candidates contested. If the el ected.candidate got 3,12,156 votes, One
of thedefeated Candidate got 1,09,054 votes then hew many votes doesthe 3 rd candidate
got if the total votes polled are 5,08,211.

(A) 2,31,01 (B) 87,001 (C) 4,21,210 (D) 3,99,157
The price of abook is I 28.50then the'Cost of 15 such books is
(A) 42,750 (B) X 4,275 (C)X 427.50 (D) % 42.75

Keerthi has < 89. Her M other, gave her X 21. She bought a gift that costs I 50 to her
friend on her birthday. How much money isleft with her?

(A) T 160 (B) T 60 (C) T 39 (D)% 28

Key

1C 2B 3D 4C 5B 6B 7D 8A 9D 10A
B /12.C 13.B

Explanation

1.

Total cost for 25Lof Sunflower oil =25 x 148 =3 3700
Total cost for 38L ofRice bran oil =38 x135 =3 5130
Total money he spent = 3700 + ¥ 5130 = I 8830
Money given by father =3 1550



Money given by mother =3 1865
Total money given by both =% 3415
Money spent for purchasing Books, Stationery and bag
=% 1280 + 1647 =% 2927
Money left =% 3415 — ¥ 2927 =X 488
(UNITARY method)
Amount for 42 meters of shirts cloth =3 2730
Price of the cloth per meter = 2730 + 42 =% 65
Price of that cloth for 25 metes = 25 x 65 =3 1625
Total timetravelled by Shanoor by both Auto and Bus =1 hour +2 hours =3 hours
Timethat hereached hisvillage=11:30A.M
Timethat he started from his house = 3 hoursback frem 11:30AM =8: 30A.M
Amount saved by Karthik = 2x500 + 6x200 +312x100 + 4x500 + 5x20
=% 3700
Amount saved by Charan = 3¥500# 6x200 + 6x100 + 2x500 + 2x20 =¥ 3440
Difference = 3700 —X 3440 =X 260
The statement (B) isincorrect.
Amount spent for teaghers tickets = 8 x ¥ 150 =< 1200
Amount spent far.students’ tickets = 96 x ¥ 80 = 7680
Total amount spent = 7680 +I 1200 = I 8880
Cost'of 300g'Cashew =3 x 3 110=3 330
Cest 0f/200g Badam = 2 x ¥ 80 =% 160

Cost of 200g Pista= 2 x ¥ 150 =¥ 300
Total cost =%. 330 + % 160 + I 300 =% 790
Amount given by Shanti =3 1000
Amount given by the shopkeeper =I1000 - 790 =% 210
Areaof the given wall = 6 meters x 3 meters =18 sgq.m
Cost of the wall paper per sq meter =3 645
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10.

11.

12.

13.

Money required = 18 x I 645 =% 11610
Number of chalk piece boxesin the carton = 36
Tota cost of the carton =% 2016

The cost of one box =% 2016 + 36 =% 56

Cost of Al-graderice bags =8 x I 1840 = 314720
Cost of A2-grade rice bags = 12 x ¥ 1560 =< 18720

Cost of A3-grade rice bags = 15 x ¥ 1250 =% 18750

Total amount that the shopkeeper earned
=% 14720 +% 18720 + X 18750 =% 52190.

Votes got by elected candidate = 3,12,156
Votes got by one of the defeated candidate = 1,09,054
Total votespolled =5,08,211
Number of votes got by the 3rd candidate = 5,08,211 — 3,12,156 — 1,09,054
= 87,007
Cost of 1 book = 32850
Cost of 15 such books =15 x{28.50
= 3427.50
Money with Keerthi = 389
Money givenly“Mother = (+)%21
Tota'Money she has = < 110
Money spent = (=) 50
Money left = % 60



LO: M412

Explores the area and perimeter of simple geometrical shapes (triangle, rectangle,
square) in terms of given shape asaunit.

1. Nandini ismaking aposter as apart of her project and wants to decorate the borders
with aglitter tape.Find the minimum length of the tape she required?

Poster 60 cm

40 cm
(A) 100 cm (B)160 cm (C) 200 cm (D) 140 cm

2. Vikaswalks 3timesinthemorning daily around@park. Find thetotal distance hewaks
inthe morning.

500 m
300m
400
200m
800m
(A) 2200'm (B) 4400 m (C) 1100 m (D) 6600 m

3. Findtheareaof thegivenfigure.

(A) 16 sg.units (B) 24 sg.units (C) 12 sg.units (D) 20 sg.units



4. Findtheareaof thegivenfigure.

(A) 14 sq units (B) 48 sq units (C)36 5q units (D) 54 sq units

5. Findtheperimeter of the givenfigure.

300m
100m 100m
200m 200m
100m 100m
100m
300m
(A) 700 m (B) 1km400 m (C)1 km 800 m (D)1 km 200 m

6. If theperimeter of thegivenfigureissl cmm, then find the length of the side that is not

given. 5 cm

2cm

7cm 12 cm 5cm

(A).19,cm (B)20 cm (C)31cm (D) 12 cm

7. Pasha and Meher have purchased farm lands as shown in the figures. Whose land is
bIgeer?  paha Meher




(A) Pasha’slandisbigger than Meher’sland.

(B) Meher’sland has moreareathan Pasha's land.
(C) Both Pasha sand Meher’slandsare same.

(D) Pashad sland has 2 unitsmore than Madar’sland.

8. Thereare 3 parksinacolony. If the colony welfare society decided to makethe biggest
among these 3 into a basketball ground, which Park will they choose?

400 m
500 m
700 m
500 m 200m 800 m
Park (2)
Park (1)
Park (3)
(A) Park 2
(B) Park 1
(C) Park 3

(D) Park 1 and Park 3 have samearea. So, they can choose either Park 1 or Park 3.

9. Find the areaof the@iven figure using grid lines and the measurements given. (1 sg.
unit = 2 units)
24 units

12 units

(A) 112 sq units (B) 1008 sq units  (C) 28 sg units (D) 36 sq units

10. Shivadivided hisfield and his 2 houses equally to his 2 children. What isthe area of
thefield that each child get?



2

L

(A) 40 sq units (B) 9 sgq units (C) 15 sq units (D) 20sgunits

Key

.C 2D 3A 4D 5C 6B 7.C 8GC, %A 10.D

Explanation
1. Total length of the borders of the poster = 40 cm# 60 cm + 40 cm + 60 cm = 200 cm.

Total tape required =200 cm

2. Total length around the park = 500'm# 300 m + 200 m + 800 m + 400 m = 2200 m
Walking 3 times = 3 x 2200 m =6600.m

Total distance walked = 6600m

3.

15|14

15| T2 |14
6l 31 4151 6|;3

76| 7 & 9 0|1 |12 73

Areaof thegivenfigure =16 sg. units
4. “By counting thereare 9 columnsand 6 rows so
The areaof the givenfigure = 6 units x 9 units = 54 sg.units.
5. 300 + 100 + 100 + 200 + 100 + 100 + 300 + 100 + 100 + 200 + 100 + 100
=1800m
=1km800 m

10



6. Given perimeter =51 cm
Total length of the given sides= 7cm + 5cm + 2cm + 12cm + 5¢cm = 31cm
Length of the side that was not given = 51cm— 31cm = 20cm.
7. By counting the unitsin Pasha sland and Meher’sland both of them occupy equal area.

8. Areaof Park 1 =500m x 500m = 250000 sg.m
Areaof Park 2 = 700m x 200m = 140000 sg.m

Area of Park 3 =400m x 800m = 320000 sg.m
Park 3 has more areaamong 3 Parks. So, they have chosen Park 3.

9. Thefigureoccupied 7 sg.unitsin columnsand 4 sqiunitsInrows.

1 sg unit = 2 units therefore,
14 x 8 =112 sg. units.

10.

3 g
g 2

Area 4x5=20sg. units Area (2x8)+4=20s. units

11



LO: M418

Calculatestimeintervals duration of familiar daily life events by using forward
or backward counting /addition and subtraction.

1. - Look at thetime givenin theclock. What isthetimethat will beindicated in
the clock after 2 hours?
% 2 m ﬁw‘s\ w2
nEN ) B ( Y ) C) C\ ) B) ‘[K’ \’
2. ] Look at thetime given in the clock. What is the timedndicated in the clock
half an hour before thistime?
A) 3:00hrs B) 4:00hrs C) 4:30hrs D) 5:00hrs
=)
3. Clock-1 " "7 Clock-2
../
Nl

What is the difference of the timebetween clock-1 and clock-2 ?
A) 1:.00 hrs B) 1:15hrs C) 1:03hrs D) 3:03hrs

4. Ravi eatslunchatd2:15PM every day. Oneday Ravi had hismeal at 11:45AM. How
earlier did Ravi eatenthat day?

A) 0:45rs B) 0:50 hrs C) 0:15 hrs D) 0:30 hrs

5.  Suryawentoutét 4:00 PM to play games and came home after 2 hoursand 30 minutes.
Atwhat timedid Suryacome home?

A) 6h:30min B) 5h:30 min C) 6 h:00 min D) 6 h:15 min

6." Lathawakesup at 6 AM every day. If oneday shewoke up 45 minutes|ate, at what time
did shewakeup?

A) 5:15hrs B) 5:45 hrs C) 6:45 hrs D) 6:15hrs

"} Look at the time on the clock. Find out how much time the clock showed

before 35 minutes.
12



A) 5:15 hrs B) 5: 35hrs C) 6:35hrs D) 5:25hrs

8. Anil wakesup at 6AM and did yogafor 30 minutes, and takesone and ahalf hour to
get ready and then leavesto school. At what time doesAnil leave for school ?

A) 7:00am B) 8:00 am C) 8:30 am D) 7:30 am

9. If abusleavesfromHyderabad at 9 AM and reachesAdilabad at 4:30 PM, how much
time doesthe bustravel?

A) 6: 00hrs B) 7:00hrs  C) 6:30hrs D) 7:30hrs
10. Findthetimefive hoursbefore 3AM?
A) 20:00hrs B)22:00 hrs C)24:00hrs D)05:00hrs

Key
1.C 2A 3B 4D 5A 6.C 7.D 8B4¢9D 10.B

Explanation

1) Time9:25hrs means9 hours 25 minutes. After two hoursthetimein theclock shows
the hour (small) hand at 11.And there iSjno change in minutes so the minute (large)
hand isat 5. So two hoursafter 9 hours 25 minutesin the clock indicates 11:25hrs (11
hours 25 minutes) .

2) Thetimeshown on the clocki§3 hours30 minutes. Half an hour before thistime, the
minute (big) handisat 12. So the elock shows 3 hours (3 hours).

3) Thetimeshown by thefirst clock is2 hoursand thetime shown by the second clock is
3 hours 15 minutes¢That is (3:15 hrs—2:00 hrs= 1:15 hrs). The second clock shows
1 hour 15 minutes morethan the time shown by the first clock.

4) Thetime duration/between 11:45AM to 12:15 PM is 30 minutes.

5) Thetime&uryaleftto play isat 4:00 PM and playedfor 2 hours30 minutes(4:00 hrs+
2:30hrs= 6:30hrs) .So the time when he reached homeis 6:30PM.

6) Lathawakesup at 6 0’ clock every day. But one day she woke up 45 minutes|ate then
thetimewas 6:45AM.

7) The clock shows 35 minutes before 6:00hrs as 5 :25 hrs

8) Anilwakesupat 6AM anddidyogafor 30 minutes, it will be 6 hoursand 30 minutes.
Hetakes oneand ahalf hour to get ready to schooal. It will be 8:00 hoursby thetime he
getsready to school. Anil left for school at 8 AM.

9) 3hoursfrom9AM to 12 noon and 12 noon to 4:30PM is 4 hours 30 minutes .So by
adding 3hours and 4 hours 30 minutes givestotal of 7 hours 30 minutes.

10) Ina24-hour clock 22:00hrsis5 hours before 3AM . Because from 3AM counting
each hour backwardsit is 2:00, 1:00, 00:00, 23:00, 22:00hr s respectively.

13



LO :M-421:

Represent the collected information in tables and bar graphs and draws inferences
from there.

1. Thefollowing figure showsthe number of children in familieslivingin acolony. As
per the figure, how many families have 2 children?

Number of children %
an N
70 N ‘
B0 - =
a0
40 -
30
20 \ ;
10 =
D 7\, L
1 child 2 childrah 3 children marethan 3 children
L 4 \ v
A) 36 B) 70 C) 42 D) 12
2. Lookatthegiven tﬂfi ngl‘ who saved more money and how much?

Name of t Money saved
studen

« V000000000
- 90000000000
= | @O0000000000

14
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A) Sheeba- 355
C) Neela—X 50
Look at thegiventable.

B) Sonu-X 45

D) Sheebaand Neela— 50

Who scored less points? And how much?

( Gold Coins Scored | Silver Coins Scored
rvel | @@@ 0000
vz | @@@@® | OOQ

raves | @@ OOLQ
Paes | QO@O@O® | OO )

A) Player 1, 70 points
C) Player 1,100 points

B) Player 3, 80 points
D)Player 3, 60 points

Find thetotal number of housesin avillage using the given table.

" =2housés 4 =3houses £ =5houses
Type of house
| | |
Ak R L
TN TN N T
AN AWAWAWAW LWL
A) 57 B) 16 C) 32 D) 53

15



5. Observethe givengraph andidentify theincorrect statement.

Food eaten in grams
800

500

400
300 ~
200
100
N

RABEIT SQUIRREL
B Food eaten in gm
1. Cat eatsmorethan Squirrel. slessthan Dog.
3. Cat eatslessthan Squirrel. smorethan Squirrel.

A) 4 B) 3 D)1
6. Thetable given below sh N of oil packets sold in agrocery shop in a
week. Find the difference of the highest and the lowest number of packets sold in that

week?
Day “‘Mon Tue Wed | Thurs| Fri Sat

No. of oil ‘16 18 | 15 2 |17 |19 | 7

G B) 16 C) 15 D) 19

16
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7. Thegiven table showsthe number of toys of atoy-shop sold inamonth.

Typeof Toy Number of toys sold

34

29

46

25

18

If thetotal number of toysat the beginning of the monthis 200, how many toysremain
unsold at the end of themonth?

A) 152 B)\248 C) 52 D) 48

8. Four girls decorated their Bathukamma using different types of flowers. The table
below shewsthetypes of flowersand the number of flowersthey used:

Name ofithe girl Chrysanthemum| Marigold | Hibiscus | Rose
Sarala 28 21 16 36
Maah 36 32 14 34
Bhavya 27 34 12 32
Thanu Si 32 28 18 27

Read the following statements and choose the correct statement:
1. Thanu Sri used more flowersthan others.

2. Bhavyaand Thanu Si used the same number of flowers.

17



10.

3. Saralaused the highest number of flowers.
4. Maahi used the least number of flowers.
A)4 B) 2 o1 D)3

Two teamswere playing Cricket in aground. Thetable below showsthe number of runs
scored by ateam.

Name of the player Runs scored
Sunil 23
Kiran 11
Mahesh 26
Irfan 28
Arun 8

How many minimum runs should be scored by theother team to win the match?
A) 96 B) 95 C) 97 D) 94

Four friendsManoj, Sanju, Abhi_and Vikranth were counting the number of vehicles
passing through their street. \Who observed more number of vehicles?

Name of the child | 2-wheelers 4-wheelers

Manoj 18 12

Sanju 16 15

Abhi 15 14

Vikranth 12 16

A) Vikranth B) Abhi C) Manoj D) Sanju

18



Key
1B 2A 3B 4A 5B 6.C 7D 8B 9C 10D

Explanation:
Number of familiesthat have 2 childrenis 70.

Money saved by Sheeba=11x Rs. 5=Rs. 55

Points scored by Player 3=2 x 20 + 4 x 10 = 80 points

Number of houses = (2 x 5)+(3 x 4)+(5 x 6)=57

Cat eatslessthan Squirrel.Cat eats 300gm whereas Squirrgl'eats 50gm.
Highest=22 Lowest=7 Difference: 22 -7 =15

Total toys sold = 34 + 29 + 46 + 25 + 18 = 152 Taysunsold=200-152=48

Bhavyaand Thanu Si used the same number of flowers.

© © N o o &~ 0 NP

Total runs scored by the team = 23+11+26+28+8= 96 So, the other team should score
at least 1 run more that is 97 runsto win the match.

10. Number of vehicles observed by'Sanjt = 16+15=31

19



LO: M-501

Reads and writes number sbigger than 1000 being used in hisher surroundings.
1. Thenumber obtained by subtracting 1 fromthe largest four-digit number

A) 1000 B) 9999 C) 9998 D) 10,000
2. The number that represents 4+500+2000 in short form

A) 4532 B) 5432 C) 2504 D) 2345
3. Four thousand and eighty in Number form

A) 4800 B) 4080 C) 4008 D)14808

4. Anorganization plants saplingsin different villages everyyyearsFhe detail sof them are
giveninthetable below.

Year Plants
2020 2056
2021 2560
2022 2506
2023 2065

Inwhich yearthe highest number of saplingswere planted?

A) 2022 B) 2020 C) 2023 D) 2021
5. Theditference between the placevalues of 7 and 3inthe number 7834.

A) 6000 B) 6970 C) 630 D) 6700
6. 46382, 5232 , 5322, 5233 Identify the smallest number among:

A) 5232 B) 5332 C) 5322 D) 5233
7.  Thenumber whichissmaller than 3000 and bigger than 2900 s

A) Two thousand nine hundred B) Threethousand

20



C) Two thousand nine hundred and fifty

D) Two thousand eight hundred and ninety nine

Thelargest number that can beformed by 5, 0, 9, 7 digitsis:

A) 9057 B) 5097 C) 5907 D) 9750
|dentify the given numbersin descending order

6876, 6578, 6078, 6087

A) 6578,6078, 6876, 6087 B) 6876,6578,6087,6078

C) 6078,6087 , 6578, 6876 D) 6087,6876,6578,6078
. Among the following, the 3 items Ramu can buy with ¥ 40001S

1) Fan - 770

i) Bed —X 2750

iii) Almirah — 2980
iv) Chair —X 350
A)i, i, iv B) ii, iii, iv C)igii , iv D) i, ii, i
. Themonthly income of afamily'1s325,650. What istheir annual income?
A) Threelakhs seven thousand and'six hundred.
B) ¥ 3,07,800
C) Three hundred seventhousand six hundred
D) All the above

. The différenee between the place valueand facevaue of * 7’ inthe number 2,75,0431s

A) 70,000 B) 7 C) 69,993 D) 70,007

Key
1.C 2C 3B 4D 5B 6A 7.C 8D 98B 10.C
11.D 12.C

21



Explanation:

1.

10.

11.

12.

Largest four-digit number =9999

9999-1=9998

2000+ 500+4 = 2thousandst+ 5 hundreds + 4 ones = 2504
Sol: four thousand and eighty =

4 Thousands+ Ohundreds +8tens + 0ones

4000 + 000 + 80 + 0 = 4080

. The highest number of saplings planted is 2560 in the year 2021,

In the given number is 7834
Thedifference between the place val ue of 7and 3 in the number 7834 = 7000- 30=6970.

(Compare the numbersin thousands place; if the numbersare same, then comparethe
numbersin hundreds place)

the smallest number in 5332, 5232, 5322, 5233, is 5232
C) Two thousand nine hundred and fifty
D) 9750

First comparethe digitsin thetheusandsplace and if they are equal, then comparethe
digits in the hundreds place and arsange the given numbers from the largest to the
smallest numbers.

Descending order: 6876,6578,6087,6078
3770 + ¥ 27504+ 350 = ¥ 3870
So he canbuyFany, Bed and chair.

Monthly income = I 25,650
Annual income = 12 x ¥ 25,650
= ¥ 3,07,800

Given numberis2,75,043

Place value of 7 = 70,000
Facevalueof 7=7

Difference = 70000 — 7 = 69,993
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LO: M504

Estimates sum, difference, product and quotient of numbers and verifies the
same using different strategies like using standard algorithms or breaking
number and then using oper ation.

1. Thelength of the Nile River is 6650 Km and the length of the Ganga River is 2523
Km. How many Kilometers more is the Nile River when compared with the Ganga
River?

A) 9173 Km B) 4133 Km C) 4127 Km D) 4137 Km

2. Lasyawrotethegreatest 4-digit and smallest 4-digit numbers usingthe digits 1,7, 2, 9.
The difference between the two numbersis

A) 8542 B) 8442 C) 11000 D) 7992

3. Mahesh spends< 4000 for food, I 8500 for house rent, %,2400f0r education, I 3800
for other expenses and saves the remaining amount inamenth. If hissaary is 24500,
then how much amount doeshe save?

A) X 6200 B) ¥ 5800 C) X 18700 D) T 14900
4. \Vegetablepricelist:

Vegetable Price per kg
Tomato I 25

@nion 330

Chilly T 160

Brinjal 3 50

Carrot % 120

Potato I35

Parveen went to avegetable shop and bought 2 Kg of Brinjal, 1 Kg of Potato, 3K g of
Onion and 2 Kg of Tomato and gave3 500 to the shop keeper. How much money does
the'shop keeper return?

A)X 225 B) X 235 C)X 275 D)X 375

5. Studentsof aschool went to the picnic by bus. I 2660 isspent tofill diesel in the bus.
If cost of 1 liter diesal is 95, then how many litersof diesel isfilled in that bus?

A) 30 liters B) 27 liters C) 28 liters D) 35 liters
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6. Hereisthelist of batting records of Cricket played by 2 team players.

Name of the Cricketer Runs scored
Sridhar 5426
Vijay 4234
Rafiq 3848
Shiva 3704
Urya 3430

Now based on the above data, identify theincorrect statement from the giverrstatements.
A) Thetotal runs scored by both Sridhar and Vijay is 9660

B) Vijay has scored more runsthan Surya

C) Thetotal runsscored by both Shivaand Suryais <7000

D) Rafiq has scored 144 more runsthan Shiva

7. Observethegiven picture and statements givenbelow.

1) 1§ the appleswere distributed to 12 students equally, then each student gets 4 apples

2) If the appleswere distributed to 8 students equally, then each student gets 7 apples
3) If the appleswere distributed to 6 students equally, then each student gets 8 apples.

4) If theapplesweredistributed to 11 students equally, then each student gets’5 apples.
Now Identify the correct option.

A) Statements 1 and 2 are correct.
24
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10.

11.

12.

B) Statements 2, 3, 4 are correct.
C) Statements 2 and 4 are correct.

D) Statements 1 and 3 are correct.

By subtracting the sum of the smallest 4-digit number, the smallest 3-digit number and

the largest 3-digit number from 3000, we get

A) 91 B)910 C) 901 D) 902

In aschool, the average water consumption for 1 day by 1 to 5 class studentsare as
below:

[, Il'and 111 class students 2 L per student

IV and V class students 2 L 500 ml pergtudent

Find thetotal water consumed by al the sudentsof all classesif the number of students

of classes 1, 2, 3is 65 and number of students of classes 4and 5is 44.

A) 130 L B) 240 L C)110.L D) 100 L
Identify the sum of 2348 + 3689 + 1598 in expanded form:

A) 6000 + 700 + 30 +5 B) #0000 + 600 + 50 + 3

C) 7000 + 600 + 30 + 5 D) 5000 + 700 + 60 + 5
Estimate the sum of 23614 and 16891 to the nearest 1000s

A) 42000 B) 41000 C) 40000 D) 39000
The expanded form of the product of 27 and 3061 is:

A) 3000 + 80+ 8 B) 3000 + 30 + 4

C) 80000 + 6000% 200 + 40 +7 D) 80000 + 2000 + 600 + 40 + 7
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Key
1.C2B 3B 4A 5.C 6.C 7.D 8C 9B 10.C 11B 12D

Explanation:
1. Thelength of the Nile River = 6650 Km

Thelength of the Ganga River = 2523 Km
The difference of the lengths = 6650 Km — 2523 Km = 4127 Km
2. Givenddigitsare:1,7,2,9
Greatest number that can be formed = 9721
Smallest number that can be formed= 1279
Difference = 9721 — 1279 = 8442.
3. Thetotal amount spent by Mahesh =& 4000 + %8500 + ¥ 2400 + % 3800 =% 18700
The salary of Mahesh =7 24500
The amount saved = % 24500~ ¥318700'= 5800

4. Costof 2KgBrinjal =2 x 3% 50=% 100
Cost of 1Kg Potato =%,35
Cost of 3Kg@nion=3x3 30=3% 90

Cost of 2Kg#omato =2 x 3 25=3 50

Total cost %3100+ 35+3 90 +% 50 =3275

Ameunt given to the shop keeper =% 500

Amount that the shopkeeper returns =500 - ¥ 275 =% 225
5. Amount spent for diesel =3 2660

Price of the diesel per liter =3 95

Number of liters bought = 2660 + 95 = 28 liters
6. Thetotal runsscored by both Shivaand Suryais< 7000

Runs scored by Shivaand Surya= 3704 + 3430 = 7134 > 7000
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7.

10.

11.

12.

1) Distributing 48 applesto 12 students = 48 + 12 = 4 applesto each student
2) Distributing 48 applesto 8 students = 48 + 8 = 6 apples to each student
3) Distributing 48 applesto 6 students = 48 + 6 = 8 apples to each student

4) Digtributing 48 applesto 11 students =48 + 11 = 4 gpplesto each student + 4 apples
remain. Therefore, statements 1 and 3 only are correct.

The Smallest 4-digit number is= 1000

the smallest 3-digit number is= 100

the largest 3-digit number is= 999

the sum of al these = 1000+ 100 + 999 = 2099

subtracting from 3000, we get 3000-2099 = 901

Total strength of I, 11 and 111 class students = 65

Average water consumptionfor 1day =2L =65 x 2=130 L
Total strength of 4 and 5 class students = 44

Average water consumption for 1 day™= 2'. 500/ml =44 x1 L 500 ml =110 L
Total water consumed = 130 + 140'=240 L«

The sum of 2348 + 3689 + 1598'= 7635

The expanded form of,7635 = 7000 + 600 + 30 + 5

23614 to the nearest theusandhis 24000

16891 to the mearest thousand is 17000

Their supt =.24000 + 17000 = 41000

27 x™30061, =¢82647

Expanded form of 82647 = 80000 + 2000 + 600 + 40 + 7
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LO:M 505
Finds the number corresponding to part of a collection

1. Whatisthefraction of the shaded part?

NN

2
D)Z

NS

4 3
A) B) 2 C)
2. Thereare28pensinabox. If 13 of themarered pens, what isthe fraction.of red pens?
15 28 13
A) 52 B) 55 C) 55 D)3

3. Fraction of the non-shaded part is:

3 4 2 1
A) 2 B) 3 C) 2 D) 2
.
4, 5 can be expressed as.
3 2 3 7
2= — 7= 7—
A) 5 B)1 > C) 5 D) 5

5. Thereare30 treesin agarden, which has 12 mango trees and the rest are guavatrees.
FractiomefqQuavatreesis:

12 10 30
A) s B) 30 C) 30 D) o
6. Fraction to be written in the box on the number line

O L]
|IIII
lD 2
B) 7= c) 73 D) 1~
)75 ) 75 )15

|
|
1
A)E
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7.

10.

. . 1
TheFraction equivalent to 5

B)

1

0) D)

5
John bought 12 apples fromthe market. He and hisfamily ate T part of the applesand

3
o part of applesgot spoiled. How many apples are left? Write asfractional number.

A) 3/12 B) 7/12 C) 2/3 D) 1/3
1
A story book contains 60 pagesinit. If Radharead 5 part of her book in the morning

3
and 5 partin the'eveningphow many pages Radhadid not read?

A) 40 pages B) 10 pages C) 30 pages D) 20 pages

1 1
Oneday has24 hours. If Ravi slegpsfor 3 part of day, studiesand worksfor 2 part of

1
day, watches TV for o part of the day and rest of thetimefor play in aday, then how
many hours does he spend for playing?
A) 8 hours B) 12 hours C) 2 hours D) 20 hours
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Key
1.C 2A 3D 4B 5A 6D 7.D 8D 9D 10.C

Explanation:

1.

Amongthe4 equal parts, oneis shaded

1
Therefore, —
4
Total pens=28
Red pens=13
13
Fraction of red pens= o8

Total equal parts=4
Non shaded part =1

1
Fraction of nonshaded part = y
If 7itemsaredivided equally amongb people, after giving 1 wholeitem, the remaining
2 2
2 items should be di¥ided among the 5 people. 1+ 5 13 :

Total trees= 30
Mango trees =12
Guavatrees = 30-12=18

. 18
Fraction.of guavatrees= 30

1
Atter 1, the number lineisdivided into 4 equal partsand one part istaken.1+ 2°- 1

ThefigureD isdivided into 6 equal parts, and one part is shaded.

5
Appleseaten by himand hisfamily =12 X5 =5
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3
Number of apples spoiled =12 x T 3

Left over apples=12-8=4

4
Left over applesin whole = T

9. Total number of pages= 60

1
No. of pagesread by Radhain the morning = 60 x e 10

3
No. of pagesread by Radhain the evening = 60 x e 30

No. of pages not been read by Radha = 60-40 = 20
10. Number of hoursinaday =24

1
Number of hoursfor slegp = 3 X 24=8

1
Number of hours for studies andwork= 2 X 24=12

1
Number of hoursfor watching TV = X 24=2

Number of hoursfer playings,24 —22 =2 hrs.

31



LO : M506
I dentifies and forms equivalent fractions of a given fraction.
1. Identify the equivalent fraction for 1/3.
A) Ya B) 2/4 C) 2/6. D) 3/8

2. ldentify thefigure which represents equivalent fraction for one-fourth

> .

A)@@ e [T 1] 9 0) @@

1 2 3 4
3 2727678 —
5 8 5 8
A) g B) 1o C) 0 D) 5
4, Fraction of the shaded part in the adjacentfigureis:
5 6 5 10
A) 10 B) 0 C) 18 D) 18
. . : ) 2
5. ldentify thefractionthat isnot Equivalent for 3
22 20 16 18
A) 33 B)%p C) 5 D) >
6. Which of thefollowingisapair of Equivalent fractions?
o) 10 5 10 6 48 2 19
A)Zandﬁ B)Zandg C);and4—9 D)gandE

LT ]

Identify the figurewhich isan equivalent fraction for thegiven figure.

(i) é% (i) (ii)

~

A) (i) only B) (ii) only C) (i) and (ii) D) (i), (ii) and (iii)
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9 12
— C) 6 D)

oo

How many squares are to be shaded in thefigure to represent Ya.
A)3 B) 8 C4 D) 12

10. Lathawent to ashop to get two litersof milk. The shopkeepér gaveher all /4L packets.
How many packets of milk did Latha bring?

A)2 B) 4 C) 6 D) 8

Key
1.C 2A 3.C 4D 5C46B 7.D 8A 9.C 10D

Explanation:
1. A fraction whose numerator and denominator are multiplied and divided by the same
2 _ 2
number does not change in value. 3%3°%

1

2.4

of the total"partsisshaded in FigureA.

3. Whenthenumerator and denominator are multiplied by the same number

-5
10

N~
X
NN
|
N
X
wlw
I
N
X
NI
S
o
=3
N =
X
ol o

5 . ,
4. Theshaded part of thegivenfigureis 9 when the numerator and denominator of this

©olo

2
X — =
2

&5

fraction are multiplied by the same number
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.2 -
When the numerator and denominator of the fraction 3 are multiplied by the same

number, identify the fraction givenin answer which isnot appropriate

10
8

X

N4
NN

The shaded part of thegivenfigureis % so, (i) and (iii) represents equival ent fractions.

3_2_6_A ~

232 g~ g 0A=6

3.3_9 9 _

23 1~ p B2
A_ 6

Then E_12

Total number of squares = 16.

1 1
16 x 2 =4 . S0, 4 squares are to be shaded to represent R

1
10. Thenumber of 2 L packetsinoneliter = 4.

1
S0, in two litres, there are 8 packets of 2 L.



LO: M508

10.

Convertsfractions i5nto decimalsand vice-versa
Decimal form of 10 IS

A) 0.05 B) 0.5 C) 0.52 D) 2.5
0.25 x = 0.025
A) 10 B)100 C) 1/10 D) 1/100

Write 0.2 in afraction form ...
1 2 3 2
A) 0 B) 0 C) 0 D) T

Ramyaate 0.25 part of acake. She gavetherest of the cake to herfriends. ‘How much
part of the cake did Ramyagiveto her friends.

A) 1/2 B) 3/4 C) 2/4 R) Y.
Shaded part of thefollowing picture

B) 0.075 0)0.75 D) 0.25

Decimal form of i

100
A)0.6 B) 6.0 C) 600 D) 0.06
Which ishbigger between 0.4 and 0.04? Show itinafraction form
2 2 2 4
A3 83 ©3 P) 100

Suma read 50 pages out of 100 pagesin a book. Show the decimal form that Suma
read?

A)0.25 B) 0.5 C) 0.75 D) 0.05
Fragtionformof 0.25+0.25+ 0.25is

1
D)i

Alw

1 1

A5 B) Z C)
, 1 . 1 . . .

Ravi coloured 2 part in green and another 2 part in red in apicture. Show the part

coloured by Ravi in decimal form?
A)0.3 B) 0.4 C) 0.2 D) 0.5
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Key
1B 2C 3B 4B 5C 6D 7.B 8B 9.C 10D

Explanation:
1. 5isdividedinto 10 equal parts

1
5 parts of 0°- 0.5

1
2. 025x — =0.025

10
3. 02=0.2x 0_2
U710 T 10
75 3
4. 1.00-0.25=0.75= ﬁ =2
6 3
S. Shadedpart—g—z
3 25 ) . .
2 X > [ making the denominator into 100 parts)
75/100 = 0.75
. 6
6. Decimal form of 100—0.06
4 2 4 2
7. 04= E = g 0.04= ﬁ %

. 2 . 2
The denominator part of = iISimore than 5

Thefraction with thelowest denominator part isbigger than the fraction having highest

: 2 2
—_ > —_—
denominatorpart.'So, s> 50

8. Number of pagesthat Sumaread =50
Total number of pages=100.

50 5
Partread by Suma = 100 - 10 =05
7B 3
9. 025+0.25+0.25=0.75= 0-1

1 . 1
10. Part colouredinred = 2 Part coloured in green = 2

2 1
2—5—0.5

Al

1
Total part coloured = 2 +
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LO: M509

Classfiesanglesinto right angle, acute angle, obtuse angle and represents the same by
drawingand tracing.

1. ldentify and count the number of right anglesformed in the below picture.
A)12 B)4 02 D) 6
2. ldentify the figureswhich have less than right angles (AcuteAngles) from the below
givenfigures.
fig.1 fig.2 fig.3 fig.4 fig.5

A) fig.1, fig.2andfig.5only B) fig.2 and fig.5 only

C) fig.2, fig.3andfig.4 only D) fig.2 andfig.4 only

| dentify and count the number of anglesthat are morethan right angle(Obtuse Angles)

formed in the below picture.

A) 4 B) 6 09 D) 10
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4. Observetheanglesformed by thetwo handsin the given clocks

Now identify the correct statement from the given statements.
A) clocks 1 and 4 both have lessthan right angles (Acute Angles) between their hands.

B) clocks 2 and 3 both have more than right angles (Obtuse Angles) between their
hands.

C) clocks 1, 3 and 5 have right angles between their hands.
D)Thereisno clock with lessthan right angle (Acute Angle)between its hands.

5. Observe the given picture.

D B

Jointhe dotsA and B;'€ and D, E and F, then count the number of lessthan right angles
(Acute Angles) fermed iniit.

A) 18 B) 12 C)6 D)10

6. Observethepicture and identify the number of right anglesformedinit.

A) 16 B) 12 C) 20 D)32
38



7. Sameera, Navyaand Meghnawrote some anglesin their books as given bel ow.

Sameera
120°, 80°,35°
180°,91°, 65°

89°, 150°,125°,20°

Navya
75°,123°,180°
125°, 30°, 88°

145°, 25°,90°,170°

Meghana
100°, 170°,125°
99°, 162°, 150°

111°, 91°,105°,179°

Now identify the correct statement fromthe given statements.
A) Navyaand M eghanawrote both Acute and Obtuse angles.

B) Sameeraand Meghanawrote only Obtuse angles.
C) Sameeraand Navyawroteall Acute, Obtuse and Right angles.
D) Right angleiswritten only by Navya.
8. Observethegiven angles.
75°, 160°,91°, 128°, 31°, 89°, 145°, 25°,90°,102,36°,/423°,180°, 111°, 60°, 99°
Identify the anglesthat arelessthan right angles(Acute Angles).
A) 10°,25°, 31°, 36°, 60°, 75°, 89°,90°,91%, 99°
B)10°,25°, 31°, 36°, 60°, 75°, 89°
C)111°,123°, 128°,145°, 160°, 180°
D) 91°, 99°,111°,123% 128°,145°, 160°, 180°

9. Observethewall clockigiven below.

Imagine the given statements and identify the correct statement.

dwAt 3:00 hours, the angle between the both the handsisright angle.

2. At 4:00 hours, the angle between the both the handsislessthan right angle.
3. At 8:00 hours, the angl e between the both the handsis more than right angle.
4. At 10:00 hours, the angle between the both the handsisright angle.

A) Statements 1 and 2 are correct. B) Statements 3 and 4 are correct.
D) Statements 1 and 4 are correct.

39
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10. Inthe below triangle, if we draw aline from Point C to Point D, then which type of
Anglewill format Point“C" ?

A) ObtuseAngle  B) Right Angle C)AcuteAngle D) Straight Angle

Key
1.C 2D 3C 4B 5A 6.C 75D 8B 9.C 10A

Explanation:
1. Onlytworight anglesaretherein this picture;

N N\ ,
2.\ /N iy

N y ; \ 7 e

~ 7/ \ Pl pra)
fig.1 fig.2 fig.3 fig.4 fig.5

Qe

only fig. 2 and fig. 4 have |ess than right angles (Acute Angles), fig. 1 and fig. 3 have
morethan right angles (Obtuse Angles) and fig. 5 haveright angle.

©)
%)
(4
4. Satement (B) iscorrect.clocks 2 and 3 both have morethan right angles (Obtuse Angles)
between their hands.

3. 9 angles aretherethat are more than right angle (Obtuse Angles).
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~

Tota 18 lessthan right angles (AcuteAngles) have formed.
Total 20 right angleshaveformed.

Sameera
120°, 80°,35°

180°%,91°, 65°

89°, 150°,125°,20°

Navya
75° 123°,180°
125°, 30°, 88°

145°, 25°,90°,170°

Meghana
100°, 170°,125°
99°, 162°, 150°

111°,91°,105°,179°

Acute Angles,
Obtuse Angles

Acute Angles,
Right Angle

Obtuse Angles

Obtuse Angles

8. AcuteAngles: 10°,25°, 31°, 36°, 60°, 75°, 89°RightAngle: 90°ObtuseAngles: 91°,
99°,111°,123°, 128°,145°, 160°, 180°Optien (B) hasal thegiven Acute angles.

3:00 hours: Right angle, 4:00 hours: More than Right angle.8:00 hours. More than
Right angle.10:00 hours: Lessthan Right angle.

Option (C) iscorrect.
10. Key (A) @btussAngle

A

Obtuse Angle

»
D
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LO: M512

Relates different commonly used larger and smaller units of length, weight and
volume and converts larger unitsto smaller units and vice ver sa.

1. Ramuwantsto buy 2 Kgof clovesin ashop. If the cloves are available only in 100g
packets, then how many such packetsthat Ramu hasto buy?

A) 10 B) 100 C) 20 D) 50

2. Ravi’shome

850

A
v

The distance between Ravi’s home and his schoolds 850m. If Ravi goesto school on
foot, then how much distance doeshewalk in aday?

A) 1IKm B) 2Km 400m C)'1Km 700m D) 2Km

3.  Kamaapurchased 2K g of Onion, 1K g500g of Tomato, 800g of Chilly, 300g of Ginger,
250g of Garlic and kept all these vegetablesin an empty bag. If the bag weighs 20g,
thenwhat isthe total weight of the bag along with the vegetables?

A) 4009 B)4000g C)4850g D) 4870g
4. Thestudents©f a school want to decorate their school boundary wall along itslength
with 3 colour ribbons one after the other. They have purchased 8m 350cm of white

colour rilbben and 6m 280cm of orange colour ribbon. If thetotal length of the boundary
wall 1s 20m800cm, then how much length of the green colour ribbon is needed?

A) 12m.450cm B) 14m 630cm C) 6m 170cm D) 6m 230 cm

55 A milk vendor collected 36 liters of milk from Rangapuram village, 28 liters of milk
from Ramapuram village and sold 19 liters of milk to aHostel and 26 liters of milk to
ahotel. He packed theleftover milk in 500ml packetsand gaveto adairy parlor. How
many milk packets did he giveto thedairy parlor?

A) 64 packets B) 45 packets C) 19 packets D) 38 packets
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6.

10.

Observe theweights of given animals.
A
W i F{

A J i

Elephant’ sweight is4000 kg Camel’sweightis500kg  Goat’sweight 1$10000 g

,.'-r"

Now identify theincorrect statement from the given statements.

A) The Elephant’ sweight is 400 times more when compared with Geat’s weight.
B) The Camel’ sweight is50 times more when compared with Goat’ s weight.

C) The Goat is490 K glesswhen compared with Camel’ sweight.

D) The Elephant’sweight is 10 times more when.compared with Camel’sweight.

The distance between Sameera shouse and her Grandma'svillageis 376 km. She has
travelled 247km by train,118km by busand.the remaining distance by Auto. How much
distancedid shetravel by Auto?

A) 1100 m B) 11m C) 11000 m D) 110000 m

A tailor stitches shirts of same sizeiand he has 50 meters of cloth with him.If 1 shirt
requires 1m 25cm of eloth, then how many such shirts can he stitch with that cloth?

A) 50 shirts B)40 shirts C) 4 shirts D) 400 shirts

Inaschool, 200mlef,Ragi Javais served to each student every morning. If 58 students
are present in aparticular day, then how many litersof Ragi Javahasto be prepared for
that day?

A)l11L B) 600 L C) 11600 L D) 11 L 600 ml

A.vaceine bottle contains 10 doses of vaccine and the prescribed vaccine dosagefor a
child is 4ml. If a hospital has used 12 bottles in a day, then how much quantity of
vaccine did the hospital use on that day?

A) 480 ml B) 40 ml C)120 ml D) 80 ml

Key
1.C 2C 3D 4C 5D 6D 7.C 8B 9D 10A
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10.

Theweight of 1 cloves packet = 100g
We know that 1Kg=1000g
Then 2Kg =2000g, 2000g + 100g = 20 packets
The distance between Ravi’s home and the school = 850m
In aday he hasto walk twice; to go to school and come from the school.
I.e., 850m + 850m = 1700m = 1 km 700m
Thetotal weights of the vegetablesis.2 Kg + 1kg 500g + 800g + 300g + 250 g=4Kg
850g. By adding theweight of the bag, we get 4kg 850g + 20g=4 Kg870)g=48/09g
Thetotal length of the school boundary wall = 20m 800cm
Total length of white and orange colour ribbons
= 8m 350cm + 6m280'em = 14m 630cm
The required green colour ribbon = 20m 800cm — 14m 6380cna'=6m 170cm
Total milk collected from both the villages = 36 liters ®28liters = 64 liters
Milk sold to Hostel and the Hotel = 19 liters + 26 liters='45 liters
Leftover milk with the vendor = 64 liters — 45|iters,= 19 liters = 19000 ml
19000 ml = 500 ml = 38 packets
The Elephant’sweight is 10 times mare when cempared with Camel’sweight.
Camel’sweight = 500kg
10 times of Camel’ sweight =10xx 500'kg = 5000 kg, whichisnot equal to the weight
of the Elephant. Therefore, the statement (D) isincorrect.
The distance betweenSameera’ s house and her Grandma’ shouse = 376 km
Distance travelled by beth traim and Bus= 247 km + 118 km = 365 km
Distance travelled /by Auto = 376 km —365 km =11 km = 11,000 m
Cloth with'thetailor = 50 meters
Requiredcleth for stitching ashirt = 1m 25cm The number of shirtsthat can be stitched
with the clothis =50 m + 1m 25 cm
50'm= 5000 cm 1m 25 cm = 125 cm 5000 cm + 125 cm = 40 shirts
Serving the Quantity of Ragi javaserved to to each student = 200ml
Number of students present = 58

Tota quantity of Ragi Javaserved to 58 students =58 x 200ml = 11600ml =11 L 600 ml
The number of dosesin 1 bottle =10
Each dose of vaccine = 4ml

Then the vaccinein 1 bottle= 10 x 4ml =40 ml

The vaccinein 12 bottles= 12 x 40 ml = 480 ml = 480 ml
44



LO: M513

Estimates the volume of a solid body in known units.

1. Kamal bought 2kg Onions, 1 kg Tomatoes, 500 gm of Brinjal and 50gm of Ginger.
What isthetotal weight of the vegetables bought by him?

A) 4kg 100 gm B) 3kg 100gm C) 3kg550 gm D) 4 kg 550 gm

2. Theweight of different sized water melonsare asfollows:

size weight
small 1kg

medium 1 kg 500 gm
large 2kg

Neelam bought 1small, 3 medium and 1 large-Sized water melonsin amarket. On the
way, shewent to her aunt’s house and gave 1 medium-sized water melonto her aunt and
returned home. What is the weight of thewatermel ons that she brought to the home?
A) 6kg B) 4 kg 500 gm C)5kg D) 7 kg 500 gm

3. Rani brought some lemons {0 make lemonade. 1 lemon gives nearly 7 ml of juice
when sgueezed. She needs 21 ml ofilemon juiceto make 1 L of lemonade. How many
lemons should she squeéeze to make 2 L of lemonade?

A)5 B)6 C7 D)4

4. Theweight of onglMango is about 400gm, one Guava is about 200gm and one Musk
melon isabout 1'kg 200gm. A fruit seller was carrying 15 mangoes, 20 guavas and 6
musk melans in@ basket. If the weight of the basket was 250gm, what was the total
welight that the fruit seller was carrying?

A) 16,kg'450gm B) 16 kg 250gm C) 17 kg 250gm D) 17 kg 450gm

5.7 A painter bought 3 yellow colourcans each of 50 ml, 4 green colourcans each of 100
ml, 3 white colourcan seach of 10 L and 3 red colourcans each of 200 ml. How much
paint did he buy?

A)30L 250 ml B) 31L 150 ml C)30L 150 ml D) 31L 250 ml
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Atrolley auto can carry atotal load of about 4600 kg. The weight of one bicycleis
about 23 kg. How many bicycles can be loaded in thetrolley auto?

A) 20 B) 2000 C) 200 D) 1058

~

Ichodavillage milk co-operative society collects336L of milk inaday. 90L of milkis
packed into 1 L packets, 120L of milk ispacked into 500ml packets and 110L of milk
is packed into 250ml packets. How many packets of 500ml can be made?

A) 180 B) 440 C) 90 D) 240

8. A bridgecan hold atotal weight of 950tons. There are 28 trucks on thelbridge andeach
truck with its cement bags |oad weighs 30 tons. How much moreweight can that bridge
hold?

A) 840 tons B) 110 tons C) 850 tons D) 84 tons

9. A teavendor brought 2L of milk. He uses 40ml of milK'te prepare each cup of teaor
coffee. If hemakes25 cups of teaand 20 cupsof coffee, howmuch milk isleft unused?

A) 200 ml B) 1800 ml C) 1000l D) 800 mi

10. A car weighs2500Kkg. If there are 9 such'garsin acontainer, what isthe total weight of
the carsin the container?

A) 20,500 kg B) 25,000kg C) 22,500 kg D) 23,500 kg

Key
1.C ZA) 3B 4D 5B 6C 7.D 8B 9A 10.C

Explanation:
1. Total weightof the vegetables = 2 kg + 1 kg + 500 gm + 50 gm = 3 kg 550 gm
2° Weightof the watermelonsthat she brought home = 1kg + 2 x 1kg500gm+ 2 kg==6
kg
3. llemongives7ml, 3lemonsgive21 ml
To make 1L lemonade, we need 3 lemons, to make 2 L lemonade, we need 6 lemons.
4. Mangoesweight=15 x 400gm=6000gm=6 kg
Guavasweight=20 x 200gm=4000gm=4 kg
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Musk melon weight = 6 x 1kg 200gm = 7 kg 200gm

Weight of the basket = 250gm

Total weight carried by the fruit seller = 6kg+4kg+7kg200gm+250gm=17kg 450gm
5. Yellow colour: 3 x 50 ml = 150 ml

Green colour: 4 x 100ml = 400 ml

White colour: 3x 10 L=30L

Red colour: 3 x 200ml = 600 ml
Total paint bought =150 ml + 400 ml + 30 L + 600 ml = 31L 150 mi
6. Weight that the auto trolley can carry = 4600 kg
Weight of 1 bicycle = 23 kg
Number of bicyclesthat can be loaded in the auto trolley =4600/23 = 200 bicycles
7. 1L=500ml +500ml = 2x500ml
For 1 L, we can make 2 packets of 500ml“each.
For 120L, we can make 2x120=240,packets of 500ml each
8. Total weight that the bridge ¢an held = 950 tons
Weight of 1 truck = 30,tons
Total weight of 28trucks= 28 % 30 = 840 tons.
More weightdhat the bridge can hold = 950 — 840 = 110 tons.
9. Milk breughtsby the vendor = 2L.=2000ml
Milktisedin icup =40 ml
Milk used to make tea and coffee = (25 x 40) + (20 x 40) = 1000 + 800 = 1800m
Milk unused = 2000 — 1800 = 200 ml
10. Weight of 1 car = 2500 kg; Weight of 9 cars = 2500 x 9 = 22; 500 kg
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LO:M514

Applies the four fundamental arithmetic operations in solving problems
involving money, length, mass, capacity and time intervals.
1. Thedistancefrom Amar’shouseto school is850m. Thedistance from Karan's house

to school is980m. What i sthe distance between Amar and Karan’shouseif the school
liesin between these two houses?

==
sl =
Amar’s house school Karan's house
850m 980m
A) 1km 850m B) 1km 890m C) 1 km8/0m D) 1km 830m

2. A masonwasusing bricksthat are each 20 cmIong toplace along the foot of awall that
Is 120 meterslong. How many bricks dees the mason need?

A) 600 B) 60 C).6 D) 2400
3. Veenaand Raji were playing with marblesdy arranging them asbel ow.

g g g g ocobo o
QOO0 O

Q000
COXONONON®)

©099 ocoo000

© @ OO

\/eena, Raji

Which of thefollowing statements are correct?
A) Veenaused moremarblesthan Rgji.  B) Raji used more marblesthan Veena.
C) Both of them used the same number of marbles. D) Veena used less marblesthan Raji.

4. Lasyahas2one-hundred rupeenotes, 3fifty rupeenotes, and 9 one-rupee coins. Sowmya
has 3 one-hundred rupee notes, 1 fifty rupee note, and 6 one-rupee coins. Who has
more money and how much more?

A) Sowmya, Rs.100 more B) Lasya, Rs.3 more
C) Sowmya, Rs.93 more D) Lasya, Rs. 153 more
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10:

A school planned to take the studentsfor a picnic to Golconda. The distancefromtheir
school to Golconda Fort is 56 km. if the bus charges Rs25 per km, then how much
should the school pay towards the bus charges?

A)Z 81 B) T 680 C) T 2800 D) T 1400

Shafi went to hisfield at 6:30 hrsin the morning. He worked there all day long and
came back home at 18:00 hrsin the evening. How much timedid he spend inthefield?

A) 11 hours 30 minutes B) 30 minutes
C) 12 hours 30 minutes D) 6 hours 30 minutes

Rohit wascycling around arectangular park. The park is 32 meterSteng and 24 meters
wide. If Rohit ridesaround the park 5 times, what isthe total distancehe cycled around

the park?
ﬂ 24m

A) 112 meters B) 560 meters C) 768 meters D) 280 meters

32m

A juice vendor sold 16@lasses of mango juice, 12 glassesof orangejuice and 8 glasses
of pine apple juiceinthe morning. If each juice glass can hold 250ml of juice, how
much juice didtheyvendorisell on that morning?

A)2L By3L C)4L D)9L

Ratnahad 4fifty-rupee notes, 6 ten-rupee notes, and 8 five-rupee coins. Her mother gave
her 1 fifty-rupée note and 2 ten-rupee notes. How much money does Ratna have now?

A)R.370 B) Z. 468 C)%. 388 D) Z. 580

Divyadrinks 150 ml of milk each time. If she drinks the same amount of milk twicein
aday, how much milk doesshedrink inaweek?

A)1L50ml B) 1L 800 ml C)2L 150 ml D) 2L 100ml

Key
1D 2A 3.C 4B 5C 6A 7.B 8D 9A 10.D
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Explanation:
1. Distance between Amar’shouse and school = 850m
Distance between Karan’s house and school = 980m
Distance between Amar and Karan's house = 850 + 980 = 1830m = 1km 830m
2. Length of the foot of thewall = 120m = 12000cm
Length of 1 brick = 20cm
Number of bricks = 12000/20 = 600 bricks
3. Number of marblesused by Veena=4 x 5 =20 marbles
Number of marblesused by Raji =5 x 4 =20 marbles.
So, both Veenaand Raji used same number of marbles.
4. Money with Lasya:2 x 100 + 3 x 50+ 9 x 1 =200 + 150+ 9 =359

Money with Sowmya:3 x 100 + 1 x 50 + 6 x 1 = 300% 50+ 6.= 35650,
LasyahasRs.3 morethan Sowmya.
5. Distance from school to Golconda fort = 56 kim
Distance from Golcondafort to school = 56 km
Total distance travelled = 56 + 56 = 142 km
Bus chargesfor 1 km =%. 25Bus ¢harges for112 km = 112 x 25 =%. 2800.

6. Timewhen hereturned from thefield =48:00 hrs=17:60 hrs(since 1 hr = 60 minutes)
Time when he went to the field = 06:30 am = 06:30 hrs
Total time spent in theffield = 17:60 — 06:30 = 11:30 hrsi.e., 11 hours 30 minutes

7. Perimeter of the reCtangular park = 32 + 24 + 32 + 24 = 112meters
Rohit cycled around the park 5 times.

Total distance he cycled = 112 x 5 = 560 meters
8. Quantityyof'mango juice sold = 16 x 250 ml = 4000 ml
Quantity of orange juice sold = 12 x 250 ml = 3000 ml
Quantity of pine applejuice sold =8 x 250 ml = 2000 ml
Total juice sold = 4000 + 3000 + 2000 = 9000 ml = 9L
9. Money with Ratna= (4 x50) + (6 x 10) + (8 x 5) =200 + 60 + 40 =% 300
Money that her mother gave = (1x 50) + (2 x 10) =50 + 20=% 70

Total money that Ratnahasnow =%. 300 +% 70 =%. 370
10. Milk taken by Divyain 1 day = 150 ml+ 150 ml = 300 ml

Milk taken by Divyain 7 days=300 x 7=2100ml = 2L 100 ml
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LO: M515
| dentifies the pattern in triangular number s and square number.

1. Madhuwasmaking the pattern using bhindis asgiven below:

®
o %
@
® ®
What comes next in the above pattern?
® O
N 9% 5 0000
o0 °
®
e O ®
© o o © D) @ @
.0 0 O
® ¢ ¢ ©

2. Kamalacollected some hibiscusflowers and wasgrouping them as shown in the bel ow
pattern:

yl

p o N R PN PN P
How many'flowers does she keep in the next group?
A) 10 flowers B) 16 flowers C) 12 flowers D) 14 flowers

3. Tarunwas playing with leaveswhich hegathered for hisproject. He arranged themin
groupsas shown in the below pattern and asked his brother to extend the pattern.

g9 0009 099
gy

How many leaves should hisbrother useto extend the pattern?
A) 12 leaves B) 16 leaves C) 10 leaves D) 8leaves
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4. Varshaand Ansh were completing the seriesgiven below asfollows:
Varsha: 11, 16, 21, 26,31, 36
Ansh: 11,16, 21, 26, 30, 34

Who wrote correctly?

A) Varsha B) Ansh
C) Both Varshaand Ansh wrote correctly ‘?
D) Both Varshaand Anshwrote incorrectly.
5. Tegawasarranging cubesone over the other in different piles. Look at.the arranged
by him below:
OEEE
EEE
HE CEE

How many cubeswill heuseto arran

A) 20 cubes B) 25 cub 0 cubes D) 36 cubes
6. Kushi and Rahimwere playi i and making some patternsas below:
| \I/ Iz Alz

Toextend ern, KUShI saidthat they need 1 twig and Rahim said that they
need 2 Swer is correct?

B) Both are correct C) Kushi D) Both are incorrect
7. . Observe the below pattern:Which position does the leaf take in the next turn?
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8. Observethe below number series: 3,6,9,12,15, ...
Leelasaysthat theruleisto multiply 1, 2,3, 4,5, ... by 3
Karunasaysthat theruleisto adding 3 each timeto the previous number to continue.
Choose the correct statement:
1. Leelaand Karuna, both are correct.
2. Leelais correct.
3. Karunaiscorrect.
4. Leelaand Karun, both areincorrect.
A) Statement 3 B) Statement 2 C) Statement 1 D) Statement 4

9. Observethe below series:82, 76, 70, 64, , .

Which numbers come in the next 3 blanks?
A) 58, 52, 46 B) 60, 56, 52 C) 52,46, 30 D) 62, 60, 58
10. Which numbers comes next in the givennumber series:

1, 4, 9,16, 25, : ,

A) 32, 46, 54 B) 36, 49, 64 C) 28, 36, 48 D) 36, 48, 60

Key
LCys2B” 3D 4A 5B 6A 7.D 8C 9A 10.B

EXxplanation:
1. “Pheseriesisasfollows:1, 1+2=3, 3+3= 6, 6+4 = 10 (in triangular shape)

2. Theseriesis2,2x2=4,2x 4=8,2x 8=16, ...

w

Theseriesis2,2+2=4,4+2=6,6+2=8, ...

>

The seriesis11,11+5=16,16+5=21,21+5=26,26+5=31,31+5=36, ...
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10.

The seriesis: 1x1=1cube
2 x 2=4cubes
3x 3 =9 cubes
4 x 4 =16 cubes

5x 5=25cubes...

Theseriesisl, 1+2=3,3+2=5,5+2=7,7+2=9, ....S0, they need 2 twigsmore
to extend the above pattern.

The patternistaking ¥aturn each timein clock —wise direction,
So it comes to 1% position.
Asper Leda3d x 1=3, 3 x 2=6, 3 x 3=9,
3x 4=12, 3x 5=15, ...
Asper Karuna: 3, 3+3=6, 6+3=9, 9+3=12, 12+3=15;...50,
both Leelaand Karunaare correct.
Theruleissubtracting 6 from the before number.
S0, the next 3 numbers will e 64 — 6 =58

58 -6 =52

52-6=46
1x1,2x2,3%3,4%x 4,5%x 530,

the answer is. 6% 6=36, 7x 7=49, 8x 8=64



LO: M516

Collects data related to various daily life situations, represents it in tabular

form and asbar graphsand interpretsit.

1. Deepak, awholesale merchant recorded the stock of pulsesand grainsin hisshopin
thefollowing table:

Weight of 1 bag =100 kg

Name of theitem | Number of bags

Rice 13
Green gram 2
Yellow gram 3
Benga gram 5
Sugar 8

The sum of weights of whichitemsis edqual to 1000 kg?

Choose the correct statements:

1. Greengram, yellow gram and.Bengal,gram

2. Green gramand Sugar

3. Green gram, yellow. gram and Sugar

4. Yellow gram and, Sugar

A) Statementsd.and 3
C) Statements2 and 4
2. A ficket seller noted the number of passengerswho purchased different busticketsin

1 hour on‘aday asfollows:

B) Statements3 and 4
D) Statements 1 and 2

Bustype

Number of passengers

Cost of 1 ticket

EXxpress
Deluxe

Indra

87
61
36

Rs. 96
Rs. 135
Rs. 171
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How much money did theticket seller get by selling Deluxe bustickets on that day?

A) X 8352 B) ¥ 8235 C) X 6156 D) X 6516
3. Thenumber of studentswho ate Mid-day mealsin Annaram Primary School on Monday
isgiven below:

Students who ate MDM
35

30
25 1
20 B
]
15
10 ==
5 I
0

Class 1 Class 2 Class 3 Class4 Classb

Class1 ®Class2 mClass3 ®Class4 ®E(Class5

All the students who ate MDM were served egg. If the cost of 1 eggisRs.5, What is
thetotal cost of eggs provided 4o the MDM students of that school on that day?

A) Rs. 625 B) Rs. 425 C) Rs. 575 D) Rs. 750
4. Theresultsof long jump of 5 players during acompetition has been recorded as below:
Name of the player | Distance jumped
Kiran 3m5cm
Sandhya 3m 25 cm
Bhavani 3m 10 cm
Nitin 3m75cm
Kumar 3m 40 cm

What is the difference between the |ongest distance and the shortest distance jumped?
A) 65cm B) 50 cm C)70cm D) 55cm
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5. Givenbeow isthelist of programsand their timings of Childrens Day Celebrationsin
Jyothi’s schoal.

Program Time
Welcome song 10:30
ClassicalDance 10:40

Drama 10:50
Group Dance 11:20
Prize Distribution | 11:30
Closing time 11:40
Which program takes the longest duration?
A) Classical Dance B) Drama
C) Group Dance D) Prize Distri bution

6. Given below represents the number of cycles of different'brands sold in a bicycle
shop inamonth.

Number of Bicycles sold

Avon Herg Hercules Atlas BSA - Lady bird

mAvon WHero ®Hercules ®Atlas ®ESA- Lady bird

If the shop owner Bought 50 bicycles of each brand at the starting of the month. By the
endofthemonth, which brand of bicycles remained less and how much?

A)Avon, 35 B) Hercules, 37 C)Avon, 15 D) Hercules, 13
T..#A godown of groceries hasthefollowing items:

Item No. of bags Weight of each bag

Peddy 18 75Kkg

Red gram 10 70kg

\Wheat 7 50 kg

Green gram 12 50 kg

Onion 20 40 kg
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If 1 Quintal = 100 kg, whichtwo itemswhen added together arelessthan 10 Quintals?
A) Paddy and Red gram B) Red gramand Wheat
C) Wheat and Green gram D) Green gramand Onion

Below is the data related to the top 5 highest IPL 2024 run — scorers (rounded to

nearest 10s):
Runs scored in IPL 2024

800
700

800

500

400

300 &
200 N
100

g
‘M‘ H“ " \“\

Sanju Samson Travis Head Riyvag Parag Virat Kohli Rutraj Gaikwad

mSanju Samson ®TravisHead  ®Riyag Parag Yirat Kohli  ®Rutra) Gaikwad

How many more runs does the player with the lowest score need to score to meet the
player with the highest score?
A) 170 runs B) 160 runs C) 200 runs D) 140 runs

Sneha needs the follewing things in her new flat. Below givesthelist of things and
their costs:

Name of theitem | Cost of each item
Fan < 1500
Bed T 4000
Utensils < 3690
Gas stove < 2999

If Snehahas Rs. 10,000 with her, how much money does she need moreto buy all the
aboveitems

A) X 2189 B) ¥ 1289 C) X 1892 D) X 2891
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10. Givenbelow arethe details of Shafi and Ruksanawho went to the market to buy some

things:

M oney spent on Money spent on

food items clothes and accessories
Shafi T 328 % 413
Ruksana |3 372 T 569

If Shafi and Ruksanaeach brought Rs. 1000 to the market, who spent meremeney, and
how much money doesthat person have left?

A) Shafi, ¥ 741 B) Ruksana, 941 C) Shafi, ¥ 259 D) Ruksana, ¥ 59
Key
1.D 2B 3A 4C 5B 6.D 7.Cw8C 9A 10.D
Explanation:

1. Greengram+ yellow gram + Bengaligram =2 #3 + 5= 10 bags= 10 x 100 kg = 1000

kg

Green gram + Sugar = 2 + 8 = 10'bags = 10 x 100 kg = 1000 kg

So, both Statements aré correct.

2. Cost of 1 ticket for Deluxe bus=7% 135

Number of passengers who bought Deluxetickets = 61

Money got by selling Deluxe bus tickets = 135 x 61 =¥ 8235

3. Thenumbenof'studentswho ate mid-day mealsin Annaram Primary School on Monday
Jotal studentswho ate MDM =21 +24+ 32+ 30+ 18=125
Costof 1egg=%5

Cost of 125 eggs =125 x 5=3% 625

>

Longest distance — Shortest distance=3m75cm—-3m5cm =70 cm

5. Dramastartsat 10:50 and endsat 11:20
Duration = 11:20 — 10:50 = 30 minutes.
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10.

Number of Hercules bicycles at the beginning of the month =50
Number of bicycles sold = 37

Number of bicyclesremained unsold =50 —-37 = 13

Weights of Wheat and Green gram =7 x 50 + 12 x 50 = 350 + 600 = 950 kg < 1000
kg (10 Quintals)

Highest score = 740 runs by Virat Kohli

Lowest score = 540 runs by Sanju Samson

Runs to be scored = Highest score — Lowest score = 740 — 540 = 200 funs
Total cost of the items = 1500 + 4000 + 3690 + 2999 =% 12,189
Amount Snehahad =¥ 10,000

More money she needed =% 12,189-10,000 =¥ 2189

Amount spent by Shafi =¥ 328 +3 413=% 741

Amount spent by Ruksana=7% 372 + 3 569 =3'941

S0, Ruksana spent more.

Money left with Ruksana =3 1000=3941=3 59
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